December 2008
MBA – Principles of Finance Quiz
Name: 
1. If the present annuity factor is 3.89, what is the present value annuity factor for an equivalent annuity due if the interest rate is 8%? 

Response: annuity due factor = 3.89 * 1.08 = 4.20
2. You are offered a special set of annuities by your insurance company, whereby you will receive $20,000 a year for the next 10 years and $30,000 a year for the following 10 years. How much would you be willing to pay for these annuities, if your discount rate is 9% and the annuities are paid at the end of each year? 
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3. Consider an investment portfolio formed with two securities. Security A has a standard deviation of 0.4 and Security B has a standard deviation of 0.5.  A and B have a correlation of 0.3.  What is the standard deviation of the portfolio with equal investment in each of the two assets?
4. Which of the following portfolios cannot lie on the efficient frontier as described by Markowitz? Explain why?
Portfolio

Expected return


Standard deviation

W


9%



21%

X


5%



7%

Y


15%



36%

Z


12%



15%

Response: W
5. A company enters into a short futures contract to sell 50,000 kilograms of cotton for 70 cents per kg. The initial margin is $4,000 and the maintenance margin is $2,500. What price of cotton futures will trigger a margin call?

Response: 73 cents
6. If the yield curve is downward sloping, explain the market’s expectation in short-term interest rates movement under the expectations hypothesis.
Response: short-term interest rate is expected to decline 
7. In the Bond Arbitrage Case, the callable 00-05 bond is mis-priced. Explain how to take advantage of the situation if you own the bond. How much profit per callable bond ($100 par value) can you make for each of the two synthetic bonds?
Answer: Sell callable bond and buy synthetics
$0.822
$2.467

8. In the Bond Arbitrage Case, the callable 00-05 bond is mis-priced. Explain how to take advantage of the situation if you do not own the bond. In our class discussion, there were concerns over the risk of arbitrage. What are the risks?

Answer: reverse repo and sell callable bond, buy synthetics
The risk that prices do not return to normal quickly but they diverge further.

9. Can you describe how the fixed swap rate is determined in a five-year plain vanilla fixed for floating interest swap?

Answer: it should be the coupon rate on a five-year Treasury that is priced at par.

10. In the Ontario Pension Fund case, there were investments in international assets. Is the fund mainly concerned about the depreciation or appreciation of the Canadian dollar? Please explain.
Answer: Appreciation.

Appreciation in Canadian dollar indicates depreciation of foreign currency and asset value of international investments.
Please identify your group members and assign a participation grade from 1 to 10 with 10 being active participation and 1 no participation.
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